HFiER

EHHESEFEEAPACKING LIST

AF: DE=

1,FESH:

TE: H2023011052 IR E 3200kg
EEHEEY | THJ 3200/ 1.0 - JXVF A FRNA—AR{L
B/ik 10/10/20 HER:

HRR 2000x3250x2600 FiIRY: th4yPUES1750 x  2600(3E[J2400)
2, {55!

eI TEIE RY @S =t
1 [ [idiiE, B4, HemSSHRTESE AFE

2 |kams SR, IRIER, FIROE, FPERREE Bk

3 [miiE  [BR, TRIR IJNB, BRI, MUEHHE, YR AFE

4 s [BiR, BiNE AFE A
5 |mtis  [NERIHERMG, BLSRENE, T2 AFE

6 [Sth=iSnse, e, A, SED, 8% AFE

A EE - AFE

8 [ [ IteRaay, B AFE

9 s |[Eixsar, Be AFE

10 [E02e  |EH1R, SHLREE, Sni vERE =

11 [5/E2 | ERRIERE EEaE

12 [T [ 7 EE e

13 |smasciE RS R, HE FEEs

14 W@  [WER, WEREY, FREMHT, #BS EEaE

15 |[Z@2 |&EER, 2R, B, 8K ]

16 [mues  |Eiwesss, BalRLE Al

17 |[9ER  [WdER s

18 |sunmisszin| S, LIEEH
FEESHE: 19 1%

AR TRAINE (EEmERI—anEn)

HzR: B - Htx: teE: &
TN =]::

ENERE: =]

Ry REAERSERLRENLER. 5L BRFERN, BEEBREZAE=S




Mo kK ® F B
EFERT H2023011052 B/¥/11 10 / 10 / 20
RS THJ 3200 / 1.0 — JXVF SRR 2000 X 3250 X 2600
EFER P FIIHRERF DU - 1750 X 2600
ea s s % K5 /R R K/ Hpr % IF
) . KRE=2214 o
LA IR LR AL W keh: LR, S M bR | | B (AT e
2 | H | SFIEREER LR S 140X 60 4 fF | e R
3 | H LR P B 140X 60 4 b | ededE BB
11 A Unshy 410 164, )% : 130, A554 4 o 3 e
51 H SR bRkl 150X 325, t=16 2 P | AR RR
6 | H BRI LA P ] 350314 2 A g L
"1 H BRI TR it 1 440X 314 2 | TR R
8| H iRt Heekdt, M 400-8-10-16 2 A REEER
91 H I577 .48 £ 0 i} P& 1=325 4 4% | et b
0] A RN A KJ¥: 1L=3600 S wAHHTK3600, RATES | 2 S | e g B M
1l A SRR bRt B D16 FifF 8 | SREEAEI |
12 H BRI 8 FHE . HEs 5. 2064] X 73270 1 =
B R B 1032 2 i
B3 H AT B 63 X63X63 Bl D16 HiFF 8 A ] il
14| B i P 208484R 1.=2214 1 £ IR
o[ 15| H ZZMR bRt 200X290, t=16 2 B REEATR
Jin 2L S —
| 16 z TR RO 57 Zﬁﬂﬁﬁgﬁéﬂm 1 & 1zom
171 A GRS PRt 130X50X50 1 i A = 35
8 A I, bRt [ 4 O I BN ;s
JCH = R RHRAT O | 6HEFT 1.=2200/1750 8 % | A3 MR EE
20| H S BebbR e L= 400 2 £ R
21 | H HRBRFT R B bRIER 1.=3000, L2000 1 %
22 | H 5 X FRAELE 295X 90X 55 2 lan
23 | A V2 R A R PR 1 E
24 | A LR €N TR bR AL 930 4 %% | 250508, XFRHITH
26 | 4b BN S it T90/B, % HFLT5X75 H103 586 5 it 1 i
o7 bix Xof S AR 77 sNER M 2 A /N
sb BRI AR Ji ANEAR it 2 i
e QJLO7HTHER 22 24 O fodfFia sk . 5400KG (RS
i o B0 (FMIHAL | ks tn/s W 16 | | Lot
29 | 4t TR AL Bt s, BiRiAT&: 1989 1 £ | EEE R
30 | 4b | FRRUKSTFRSER I 1 | AR EEL
REEMEL 1. 2mm304 R LU
31| H ERE =282, H=2600 0 fF | L omsouscrsng
32| H Jo tPRERR L=500, H=2600 0 4 1. 20m304 K SRR
33 E‘ 1'Jl'Jﬁﬁ‘ )ﬁ%ﬁ& 1.=285, H=2600 4 ’f¢ 1. 2mm304 RECA ]
o134 H ] BEAR ’ =500, H=2600 10 | 1 2emsosnsoremn
BE 135 A HIEEAR AR A LI 1=32, H=2600 1 | 1 ewmsosnscrem
36| H B BERR =282, H=2600 1 | omsoracrmg
35 | H HIEERR 1=32, H=2400 1 | 1 ewsovnsorem
36| H PR BERR =282, H=2400 1 | 1 msorrecrimm
37| A Bk ThE AUNRAHRE 1=2064, H=200 1 | 1 emsorscrse
| THEEE Y 2% 865 2 1 1. 2304 R AR5
138] H IR TR 317 X 2064 1 1
139] H R TIR ) 500 X 2064 4 P FFAT L
I 40| H AL HiRAEE 500 X 2064 1 fF | FE380 B R IL
141 H Ja BRI 375 X 2064 1 i
147 H RIERI1H 1. 2mm304 RGN =463 H=2415 4 [ BRI, 1818
147 H TR 1. 2mm304 K SR =463 H=2215 4 fE RTS8k
55| H B2 TR L. 2mm304 R B =463 H=2615 40 fE R, TR
155| H FEIKR L. 2mm AR W oK L=463 H=2415 40 G D NENE=INE-E S
H I G 1. 24 1.=2565 10 1t TR
H THEESE 1. 24K 1=2365 10 i SRR
156 A FIRES T 1. 20m304% LA B=50 1=1870 10 %
i 156 H EIERG L. 2mm AR B IR OK B B=50 1=1870 10 %
H EIINESHA S 1. 2mm304% SRR B=50 H=2620 10 1t
H FEITEVE L. 2mm AR K 3 B=50 H=2420 10 4
EIINESN S 1. 2mm304 K B 865 10 %
ERNESTY S L. 2mmAAAR R K 865 10 I
58] H PNUIEL iy A IR} 44 1 ]
H JEMS T IHL 254K bRt 40%60 0 fE
H i il kAR FRAEf: 80%55 0 1
149 % Bide NBE (RoBHESR917A61-AC220) 917A61-AC220 1 E
38 | K EXIS SR L70X 70X 6 L.=250 28 s
39| H THEEE L70X70X6 L=200 28 i
o 40 | H | EUBCCAEIBTE L70X 70X 6 1=1350 56 1t FeAi A
% 41 | A RIS R s L70X70X6 L=150 56 P
21 A ElER S L70X70X6 1=1890 28 fF | FLEE107, fR#260
451 B RHE L50X 5 =500 0 4
46 | H RHEER L50X5 L=100 0 s




2 A

5 #

s 2= 12023011052 B/35/11 10 / 10 / 20
I THJ 3200 / 1.0 — JXVF RN R 2000 X 3250 X 2600
EFER P FIIHRERS DU - 1750 X 2600
AR | 5| Rl % K5/ AlE R B GFE &0 Pk AL %
5K/ %, | B 12 % .
43 | 4b R T T90/B o 1B 2 & 68 PN
_ ) 5K/%, |HE: 18 % .
44 | Hh X E S TK5A K% B 2 & 98 *
45 | 4b FFPUESER T90/B 12 i
46 | 4b Al S HUEBAR TK5A 18 s
47 | 4k T FHURRD T90/B 128 H
S [48 [ 4b B SR TK5A 138 H
Bl 49 | 4b TR HERY T90/B 28 A RO EH
50 | 4b S brifEE K1=1100 2 1 FL#E96x96
51 | 4 SR K10.3 JLEE: 110 4 i FLEE110
53 | 4k S T90/B £=0.5mm, 1.2mm 108 14 JE
54 | 4t SR TK5A €= 0.5mm, 1.2mm 108 1 JE
55 | 4k LS & JEAR 4 A
56 | A Xof H 48 B 1590 X 4100 1 £ | B HE
58 | 4t X A kg, ME ®400-8-10-16 2 A
59 | 4h UL 16%, & 125 4 £ | FXUEERE, 65
60 | 4k %o E AR 760X 300 X 80 60 1 | k130, 52kg/
- 61 | 4 Xof o St 13K okl B=17 4 A JERIE A
At H ot B R R A P ] 200%50 3 1 | BERCrEXT 4
a4 | A PO g B ] 350 X340 2 A | RERCEERS A
66 | B X EIE R 1750 X 1220 2 1 53 (7
67 | A A4 AR L X 1220 0 14 TS £
68 | A hf B CGE L= 600 8 %
69 | H BEEEKE 6508, L=3000 2 2%
70 | 4b BRI E R i LD-HC-L11 2 A
Ryt 71| 4 X G B LD-HC-L17 1 A
72| H JRIUICES brifEE g H=1500 1 i
ik BUEEE : 1 m/s
| 73 4h R ek A XSGO07—B . Ji Bk 2% 4445 : ©8 mm 1 £ L AR
FCik 4 B e . R4
74 | H FRRR L bR ALl =300 H=60 10 I3 gy
| 5 H PR AR S BEARIELE L= 345 10 %
Eel 6| B PRI K e384 H:1900 2 %
= PRAV 38 FLEE110 L= 375 4 % | REEREA
78| H 7% I 48 S P 40 i 1 8L @28, 2084, FE A AR | 1 1} 11.=925
79| H 0 74 S M4 [ 8428, 20414 1 £ |1=350
@ 80 | H R 28 S AR R L=650, 1681444 0 %
g | 81| S B P 819S+NF-10 Eif: D10 1664 k| 208K X 8%
% 82 | 4t PR 3 A 22 4 8%19s+PP-8 HiE: @8 100 S
83 | 4t 3k D8 6 A
84 | 4h DNy D10 GIem: 48K | 16 E
8L | H B I Sl B =250 1 1= JH PR
85 | 4k R E 1EHE 1 =
. 3200kg  HE: 1m/s
?I 86 | 4 BRI GTWI0X-162P0A ﬁ;l;;’ﬁg:l lj”‘l'lzoov‘ LM & GTW’?O?iil?g;JOA
#l HF. D410-8-10-16
87| H THLLE B PUmIcTV I0X-162P0A | WP EEALE . UE 1 Nl ST
88 | 4t FHUR B 22 B AR 247 6 =

20 b5




2 A

5 #

EFERS H2023011052 B/3/17 10 / 10 / 20
FEmEE THJ 3200 / 1.0 — JXVF FR AR 2000 X 3250 X 2600
- IRE S I FEIHRRRT di4rDURE : 17502600
WA 75| R % B5/35 R HoE O &0 K AL &
89 | H AREFR KJZ: 3.9% 28#b T 74 2 % THE
90| H K EFIR KR 2.2% 18#b RN 2 % F B
or [ swp KR, BB | e ——o {5 =
92| A P 38 85 22 P B ] DL AILIE: 240 1 2% | 10848489, L=920
| e o e i ] 500%314 3 A
?l 0| s Rk i =325 8 T
i E ot 3R A kie, ©520-8-10-16 1 %
93| H B R 4R Ee AL b 1] 650 X920 1 =
H B dpEe BkES, A D 400-8-10-16 1 A
9| A B IRSAES Bk, PR E ®400-8-10-16 1 1
H HZRE1 I L=470 0 # [1.2mmiEseR
| HZRE2 Bff L=360 0 % [2.0mmiEEER
95 | 4t | Skt c4pEURLY 1640, =i 1 130, Fe55%0 8 £ | FXUEERE, Y
96 | 4h AR AR BIA — A1k 1 S 22 kw
97 | 4k BEATHLZE . BIHSE JEE S 48.2 K 1 E LT T
98 | 4t JHUBR R 4 A
99 | 4k LRTod FiC S S LR B AL 1 i
| 1o0] 4t BRI IRYRCHE: 1150 X155 bidE 10 / 10 / 20| 1 5
jﬁ 101 4b | ST (D FREN FRRE |1 s
z 102 sp i A S B 0 A i O | R 8 A
g [103] 4 T AR & TR EAIT, hmb 1 A
104 4+ IRy E A 1 A
105 4b JERIT A TR HE T 220V / 40W 2 A
106 | 4h ol 2 A
107 | 4k PSS E Y 2 A vt
108 | 4 2 e 2% L= 1000 /% 10 %
109 4k BG5S TR IR 22 kw 1 N 100A
BUES FLRAR LT I I OAT 220V / 60W 1 A
11| 4k FEIELT AC220V 60WHy & 8 A
g% 12| 4k T RURSTT % ! s
L3 Ab S SIPS LX29-7/3 0 A
e |La] S BRI LED/T : 1020 X 40 3 £
15| 4k JF R HLIE AC220VHE RDC12V 0 A LEDAT H
16| 4k FRALFEE (1370) 4 N
117] 4 Fuy i 1 £
18] 4b B XU [54]J% HD/BRB 1 i
119 4k T[] i 40 2 5 2R BVFRFRARM : 16 mm? 55 P
120 4k —hiEg 3X0. 75 mn’ 20 P
121 4k 2. umn B 2L 20 k
122 4 10mm2 85 4% 2% 20 Ps
123 4h P 28 PR A8 B i 2R 49 S
124 4b RNl 80X 60X 1.2 5 %
125 4b LREIER 10 1
Gp s B 5K/ % 2 %
ah [i] 52 2804 200 A
?% 126 | 4k SR KA, 030 5 * WL
a 127 4k SR K, @10 20 ¥ JiE
o |128] A WO ek ®30 mm 4 A
129 4+ WEREL ®10 mm 40 A
130 4k D13, R 6 ¥ e
131 4h ®13, 90° 10 A
sp 1 | s
132 4+ Je LAl 200mm 200 %
133 4k MK B D6 mm 373 pa
134] 4b LT A 3 &
135] 4h ELRIE (I 77 A
136 | 4k ZH (X UT10-6 20 A
137] 4 ) SV1,25-3.2 40 A

¥ 3 5

=

N



Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²= 10mm²黄绿地线
  6mm²=  6mm²黄绿地线
  4mm²=  4mm²黄绿地线
2.5mm²=2.5mm²黄绿地线

Skyfree
对应主回路绝缘铜导线的BV标称截面:
 10mm²=UT10-6
  6mm²=SV5.5-6
  4mm²=SV2-4
2.5mm²=SV2-4



M OB R B

5 H$

EFRES H2023011052 B/3/17 10 / 10 / 20
PR THJ 3200 / 1.0 — JXVF SRR 2000 X 3250 X 2600
- IRE S I e 3 FIHRBERA DU - 1750 X2600
iiea s R % W K5/R35 R B BFE &1 R AL &%
FFIIRSF: 1750X 2600 (2400) S 1170 B
142 4 FFITHL OMJ—202A P TIHL AR IR, | &1 G | BRI
Lt (1] brdEfEss °
11144 A 5 AR s 1850 X 800 2 lis
46| H CANEN SR FrAELE K. L=490 3 %
148| H I THIRIT S P & K 12300 2 % | 4mmi bt
IR, 178 TR, JUEAR. 1)
150 [ 4k Zi 1k 0CM-202A FTIRE: 17502600 2400) &10 = |4 imwi‘ EC N
45 Y FRAERE
B [162] B RS P & KB 12300 20 £
i1[es| A ST AR S 1800 X 400 20 lis
164 H BT R TR 5 K LK%
165| H B R AN 2514 15 *
68| H TR AR FrAEfE £:500 100 o
H SR RS 110%80 16 fF [1.0/2. 0JF##%2
H ML B4R 4L A E20000. 204 300%400 8 =
169 4h SHUm HLRD 5 kg
170| 4+ FATiK 2 kg
171 | 4k A 1 kg
%ﬁ 172 4b YR 6 ke
173 4b TR IR 1 £
174 H RESEEC ARG ®8 mm, L=1000 20 %
175 4b plE S| 5 4 i}
176 | 4+ S Sl e — g LK 45 2240 2 %
T 4R IR TR B N
179 4b FMEEE HZ 10 47 K 2 %
180 4k AMEEE TR E ERsnKE, 1=1860 1 i
181 | Ab [FMeHE G 2 B ek e L=510 2 lix SRR
| 182 4b 1K D 8422 4% 4 %
183 Bb | o i — g D84l 12 A
82| 4t M 2 Ty — AR perE 1 n
185 4b UZAE (M12, FLERT2) 4 E BIERE
AT L5
i A el S AR - M.
o s 112023011052 B/3/1 10 / 10 / 20
s THJ 3200 / 1.0 = JXVF SN RS 2000 X 3250 X 2600
BEZR 0 FIIHERE R MPUES . 1750 X2600
G IR A A K5 /s Z B BFF &1F R AL %
1| BREREE A B2k MI8X 60 BooPa, gpsk, RIE BBEE ) 30 £ | 8.8 HAkM
RS R ORB R 12 M20X 110 PR, B SRR, XUER| 0 £ | 8.8 ikt
TR 5 R Rk AR IR A 2R M16X110 FSF s, gl R, SUERE 0 £ | 8.8 A
2 | Sbs R 2R M16X40 BT, T, s, 2R} 8 =
3 |G FRCE. At B2k M16X 70 BOBOR P, sfs, WRBE | 16 £ | 8.8 HAM
4 | LRSS 1, TR A M8 X 25 AP, gk, WERE 16 =
5 | BREYE S R AT RE B2k M12X40 BroPa, gk, WRBE 2 £y
6 |ERTdA 24> M8 X 80 BT, I, s, 2R} 8 =
7| e Bk M12X 90 Ao P, gk, WEBE 4 £y
8 | I S A b A e S A 1R M12X45 AP, gk, WERE 20 =
9 |ITHIB SR LR S A B M12X45 B, g IZRE 4 =
|10 | IIHLR S A SR A B M12X45 AP, gk, WERE 4 =
Ze |1 IIWLS TN S R B2k M12X45 BroPa, gk, WEBE 8 £y
12 [IIHLTTSL S TTHLR S A0 12 M12X45 FioP . gy, dEEE 8 =
13 | P 5 B2k M18X 60 Bo P, gfsk, RIE BBEE ) 24 £ | 8.8 A
14 | TS R 2R M12X45 BT, b, s, 2R 12 =
15 | FREGE S 2244 B2k M16X 60 Bo-Fa, Rb. gt ER 8 £
16 | AR SHAFE . B B M12X 40 B, b s 2R 12 =
L7 |FiAT S5 HAT e IZREM20 B2 X Py, spd, 3XIBRE | 4 £y
18 [fuF 5 HitfE BB M20 X 90 FioP4, gy, dEEE 4 =
19 RAtiEs: B2k M18X 40 BoPss, Tyl s dERH 20 £y
20 |t 5 Hh KRN 2R M16X40 BT, I, s, 2R} 8 =
21 |1 IR S A B2 M8 X 40 BT, it sk i8R 10 =
22 |5 S)kht. TIPS BB M12X 40 AP, gk, WERE 2 =
23 |BERRE A 12k M8 X 30 Boora, sk, WERE, AR | 60 =
| 24 |BEMRGERE KL M6 X 20 BooPa, gk, BRRE 152 = & i P R
BE | 25 |RIREAR S A M8 X 20 e N 5 6 £
26 |BEMR SR TR 124 M8 X 30 BT, gy, dBEE 60 =S
27 |FERBME . OKIER) BRKIZIE M12x120 EFE R B, IZERE | 312 53 JosEE
28 |FLADME e (k) TEIGIRAE M12X 280 | FOrRHE, PR i8R [ 108 53
e 29 | hiEgE 2R M12X45 BroPa, gk, WEBE 132 £y
;}1 30 | EHUERY 12 M12X45 Ar Py, gk, WERE 122 = 13K
N Y 2 M12X45 PFH, i, R 122 R T5K
32 | EHIEBER 124 M12X45 BT, g, dBEE 106 =S



Skyfree
Skyfree:
114轨用M16X55


B4 5 W
i A R - B
LR s 12023011052 Z/35/1 10 / 10 / 20
R THJ 3200 / 1.0 — JXVF 50 A RS 2000 X 3250 X 2600
P2 0 FIIHRERE FMPUE . 1750X 2600
O F S A A K5/ A Z o BFE F 1T RS AL %
33 | B 12K M10X30 AP, gk, WERE 106 =
34 [XfEE B 12k M8 X 25 Ao P, gk, WERE 4 £
35 [XfHEpME R I2HE M8 X 25 FioP, gy, dEEE 4 £
x| 36 | X Rk 2R M10X 40 BroPa, gk, WRBE 4 £ | B MR
| 37 |WEA S E G B2 M10 X 30 FioP4 . gy, dEEE 30 =
38 | X 5 5 mAL B2k M10X 25 Br P, gk, WEBE 2 £y
39 | X E PR S5 RS 2R M10X 25 BT, gy, dBEE 24 =
JEYU| 40 |ZEphHt 5 RhU B KiIZHE M12x120 Ao P, gk, WERE 12 £
e | A1 | PR A S R g 2 M8X 25 PSP o s R 1 %=
TR | 42 | PR 2 A [ JBAHK B2 M10X 80 EFE T, G, BE | 0 b WE A 5%
RS SR 12 M10X25 Ar-Fay, gk, WERE 12 1=
o |44 VIR 55 G B IEHE M12X45 o P, sfEh. SRAE 12 £y T13K
T7L45 (BRSSO 12K M6 X 20 COIEP AR i WERE | 10 =
46 |BE NI AR 5 SR Y B2k M12X45 Ao P, gk, WERE 20 £ T13K
W |47 B 5N EHLAE V24X 110 AT, s R R | 4 %= 8.8 2%
5| | 48 |EHLE S iy S 12k M8 X 25 BroPa, gk, WEBE 4 £
HL | 49 | B SIHLERH [ 2 BAKIZEE M12x120 AT, G, IZE | 12 k3 FoRli ]
51 |F&dilte [ e JEZRK B2 RS M10X 80 ARGk e, gk B R 4 5 IE AT 4%
52 |FHiE B4 e TKIBET 4X40 213 %
53 [JEHIF R E 12K M6 30 [ RN N3 4 1=
gf}g 51 | R ik M8 X 25 R, H, R | 4 %
M 55 b IS I J KIS M8 X 80 AFETEE . S, MR | 4 & w5
56 | EUE & JEZAKIZAE M8 X 80 AFETHE ., g, BE | 2 k3 L REkCE
57 | E TSRS M12x120 | fUdF P g, sk, B8R | 8 5
58 | M55 HLIE AR & A2 S M8 X 80 ORGP, sk, 8RR | 4 % EREEE
59 | MBI e JKYBET 4X40 155 pa
60 | FIUKSTF & & [ S 24 M5 X 40 AR TE R S B 1 £
A 61 [MBROT <R LB H: M5X40 AFETHE, g B8 | o £
FEfk| 62 | s PR ERE J KBS M8 X 80 AFETHE, i B8R | o k3 WEA 5
63 | M55 LAl i JEZ AR A8 M6 X 50 AR THE . g, Mg | 25 k3 ERlECESS
64 | WLy Liilids: 24 M6 X 25 40 =
65 |ZRAH % [E e H IR Z2 M4 X 10 60 *
66 |51 IS % A iR BB M10X 25 [ L ) 0 £
67 |IINLSCE 51T % 124 M10X 30 BT 4, g dBEE 4 £
BRI 68 [HRII AR S S 1244 M8 X 25 A P, gk, WERE 1 £
69 [T 5 TR=H 12K M10X 25 [ L ) 1 £
70 | PSR S BR W2AE M8 X 25 BT 4, g dBEE 22 £
71 |IERE JEZ K B2 KEM8 X 100 AUFEFHRE . s, IBRE | 120 S
72 B SE3k BB M10X 30 AFETHE ., S, s | 0 i
73 | AR R 1244 M6X 30 ALFE ] gl 90 ESS
ZEI 74 [1Egs B2k M8 X 35 [ L ) 40 z
75 |[HUIRITAR % 1244 M8 X 25 ALFE T g 150 i
o W24 M5, 5X 19 0 %=
e BRI X 100 10 =
79 | B i 2[5 S B LZM6 X 25 AFETHE. R 44 £
81 |ZE# S Hi 3R LA e 5% PUKIZRE M5X 15 LG TR R 106 ES
50U 5 W




